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QUESTION 1

OSPF is configured on an AOS-Switch, and the network administrator sets the router ID to 10.0.0.1. The administrator
wants to be able to reach the switch at this ID from any location throughout the OSPF system. The administrator also
needs the router ID to De stable and available, even if some links on the switch fail. 

What should the administrator do? 

A. Make sure that 10.0.0.1 is the IP address on the VLAN with the lowest ID. 

B. Configure 10.0.0.1 on a loopback interface, and enable OSPF on that interface. 

C. Configure 10.0.0.1 as a manual OSPF neighbor on each switch in the OSPF system. 

D. Configure 10.0.0.1 as a secondary IP address on the switch 00BM poet. 

Correct Answer: B 

 

QUESTION 2

A company requires AOS-Switches at the campus core. The switches: 

Will act as the default gateways for several campus VLANs Must provide redundancy for their services and tolerate the
loss of a link or an entire switch Must recover from the failure of one of the switches within a second or less 

VRRP and MSTP are proposed to meet these requirements. What is an issue with this proposal? 

A. VRRP provides redundancy against lost links but not a failed switch. 

B. VRRP provides routing redundancy but not default gateway redundancy. 

C. VRRP does not interoperate with MSTP. 

D. VRRP takes longer than a second to fail over. 

Correct Answer: D 

 

QUESTION 3

What must an OSPF router do when it receives a link state update? 

A. It must participate in a new election for the Designated Router and Backup DR. 

B. It must initiate a graceful restart timer. 

C. It must re-establish adjacency with its Designated Router and Backup DR. 

D. It must run the shortest path first algorithm. 

Correct Answer: D 
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QUESTION 4

Which technologies can prevent split brain in a VSF fabric that includes Aruba 2930F switches? 

A. ARP MAD or OOBM MAD 

B. VLAN MAD or ARP MAD 

C. OOBM MAD or LLDP MAD 

D. LLDP MAD or VLAN MAD 

Correct Answer: D 

 

QUESTION 5

An administrator mistakenly configures the wrong VLAN setting on a managed controller\\'s interface. This causes the
controller to lose management access to the Mobility Master (MM). 

Which mechanism will then attempt to restore the previous working configuration on the managed controller? 

A. disaster recovery 

B. auto-rollback 

C. restore config 

D. bulk configuration 

Correct Answer: B 
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